FE431:  PUBLIC FINANCE

Fall 2006

Professor Schmitt

Homework 4 – due October 4th

Problem

1. 

Number of Fireworks

Consumers

1
2
3
40

Mary


600
400
200
100

Bill


150
125
100
75

Tom


125
100
75
50

Mark


100
75
50
25

A. Find the demand curve for Fireworks assuming that it is a pure public good

B. If the marginal cost of lighting fireworks is $425 no matter how many are produced, then what is the efficient number of fireworks to light? 

C. Suppose the marginal cost of lighting fireworks is $250 per firework no matter how many are produced. Calculate the efficient number of fireworks. If a Lindahl scheme is used to finance the fireworks, what price should be charged to Mary, Bill, Tom, and Mark?

Essay:
2. 

This assignment should be approximately 1 typed page in length. After reading Chapter 6, the article by Todd Litman “London Congestion Pricing", and the article by James Nelson "The Pricing of Highway, Waterway, and Airway Facilities" (both found on my webpage http://www.usna.edu/Users/econ/pschmitt/FE431/2006/readings.html ), please write a commentary that addresses at least the following main point: the costs and benefits of users fees – be sure to address economic efficiency arguments.
